Day 2 Task 1 Answers

Question Answer

There are 600 balloons.

! There are six hundred balloons.
There are Y00 bricks.
= There are seven hundred bricks.
3 Children should circle 8 tubs of pins.
a) 200
4 b) 500
5 Jack is correct, he has made ten hundred. This is the same as one thousand.
200 | 300 | 400 | 500 | 600 | 700 | 800
6
800 | 800 700 600 | 500 | 400
2 Children should circle 500, 900, 1,000 and 100

Amir needs 3 more bags of counters because he already has 400 so he needs 3 more
8 hundred to get to 700,

Yes because ten 10s is the same as 100




